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Q1. The interval of convergence of the power series ∑
(2𝑥−1)𝑛

𝑛3
∞
𝑛=1  is  

 
   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Q2. If the first three nonzero terms of the Maclaurin series for 𝑡𝑎𝑛−1𝑥 are used, then the 
approximation of 𝑡𝑎𝑛−11 is  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



  

Q3. The Maclaurin series for the function𝑓(𝑥) =
1−cos 𝑥

𝑥2 , x≠0 is   

   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Q4. The radius and interval of convergence of the series ∑
2𝑛 (𝑥−3)𝑛

√𝑛+3
∞
𝑛=0  are 

respectively  
  
 
 
 
 
 
 
  
 
 
 
 

 
 
 
 
 
 


